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GROUP1
(5 points — 20 minutes)

Choose the correct answer and justify your choice.

1. Providing information about the performance and financial position of companies so that users

can make economic decisions best describes the role of:

A. Auditing.
B. Financial reporting.

C. Financial statement analysis.

2. US Financial Accounting Standards are currently developed by which entity:
A. The United States Congress.
B. The Financial Services Authority.

C. The Financial Accounting Standards Board.

3. According to IAS 1, a complete set of financial statements, has the following components:
A. statement of financial position, income statement and statement of cash-flow.

B. statement of financial position, comprehensive income statement, statement cash-flow
and statement of changes in equity.

C. None of the above alternatives.



4. How would the collection of accounts receivable (receiving the amount in accounts receivable)
most likely affect the current and cash ratios?

Current ratio  Cash ratio

A. Increase Increase
B. Increase No effect
C. No effect Increase
D. No effect No effect

5. Company A acquired company B. Determine Goodwill knowing that at the date of acquisition:

Cost of acquisition 1.000
Accounting value of assets and liabilities of B 300
Fair value of previously identifiable assets and liabilities of B 500
Fair value of newly identifiable assets and liabilities of B (Brands) 100

A. 400.

B. 500.

C. 700.

D. None of the above alternatives.

GROUP 11
(12 points — 95 minutes)

Attached you’ll find the Consolidated Financial Statements of PRADA SGPS as of 30 December
2011 and 30 December 2010.

"For Prada, fashion, luxury and style have always been core aspects of a project that goes beyond production of
clothes, footwear and handbags. Careful observation and interest in the world, society, and culture are at the core
of Prada’s creativity and modernity. This has pushed Prada beyond the physical limitations of boutiques and
showrooms, leading us to interact with diverse, seemingly distant worlds, and introducing, very naturally, a new
way of creating fashion”. Miuccia Prada and Patrizio Bertelli.



These values have transformed a family business into a major player in the luxury market worldwide.

The PRADA Group is one of the world’s leaders in the design, production and distribution of luxury
handbags, leather goods, footwear, ready-to-wear apparel, accessories, eyewear and fragrances.
The Group owns some of the most prestigious international brands: Prada, Miu Miu, Car Shoe and

Church’s.

The Group operates in 70 countries through 388 (as of 31 January 2012) directly operated stores, 30
- franchise stores and a network of selected high-end multi-brand stores and luxury department stores.

(from Prada’s website)

PRADA’s annual financial statements are prepared in conformity with the International Financial

Reporting Standards (IFRS).

1. Property, Plant and Equipment (4 points — 30 minutes)

Note 6. Main accounting policies

Property, plant and equipment are recorded at purchase cost or production cost, including any charges
directly attributable. They are shown net of accumulated depreciation calculated on the basis of the useful
lives of the assets and any impairment losses. Interest costs on borrowings to finance directly purchase,
construction or production are capitalized to increase the value of the asset. All other borrowing costs are

charged to the Income Statement.

Note 16: Describe the changes in PPE

Changes in the historical cost of Property, plant and equipment during the year ended January

31,2012:

- e o Production  lessehold . . . Basets Testal
{amounts in thousends of Eural m’:‘“d plant and improve- Emm : mﬂigg:; -~ under histerical

o : '0% machinery  menpts o ongs  GERGRES octruction cost
Seleee atfanuary 31 ;2825 @048 47208 176512 BAA 5957 1076943
Additions 40,806 7030 110797 23328 18,525 51820 258,607
Disposals - (300} 106! {525] 1,656} (s {2602}
Exchange differences 1,968 238 #3531 6080 a4 3501 42272
Other movements 288 15 23,832 £.850 1118 {20,627} {455)
lmpairment - L {15,187 (5,470} {e45] (L2188 {1ps2m
BelancestJanuary31  2mswr 04023 6113 21079 108076 82620 1357238




Changes in accumulated depreciation of Property, plant and equipment during the year ended

January 31, 2012:

- : Production  Leasehold . . ¥
o o c Land and . 1 = : Furniturs - Ofther Total sceum,
{amounts in theusands of Eurol s plant and inprove- = ; .

s buildings T " et & ﬁﬂmgg ‘ tangibles deprec’n
B *"ﬁ;’% stdumiey3¥ . . Ji=m 2,006 267096 104403 58,798 540,226
Depreciation " 5,058 &.635 &2 .B89% - 18631 5850 93,130
Disposals - (288} {45} {342} 11,593 (2276}
Exchange differsnces 525 210 14,834 3685 &18 19933
Other movements - - (118! 975 F75} (118}
Impairment - gl (7814 (5,000 (E05) {13,527}
g;i;m ot daminry 31 32,503 88547 396812 122412 €3q94 643,368

a. Explain the meaning and comment the values of:

- Additions

- Disposals

- Exchange differences
- Other movements

- Impairments

b. Explain why IAS 16 allows the capitalization of financial costs (10 lines).

2. (2 points — 15 minutes)
Note 17, about Intangible Assets, gives the following information about the changes in the net

book value of intangibles assets:

o i - Trade- |  Storelease o . ﬂavelopmam Assetsin Total nat
{pmmﬁmuﬁan&sufEmf ek GM&ME Acrsiéions ‘Sﬁffh&are : rotin ook walug
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a. Explain which type of Trademarks can be recognised in Prada’s Statement of Financial
Position. Comment on the measurement criteria of this item, identifying the initial
measurement and the alternative post-acquisition criteria. Explain also if it can be

- depreciated and impaired.

'b. Define Goodwill and explain when it can be recognised as an asset.

3. Operating lease (5 points — 20 minutes)
Use the information presented in one of the last notes, Note 40, and:
a. Determine Prada’s position in this lease contract (lessee or lessor)

b. Analyse, for the most recent year, its impact on the Prada’s ratios: total debt ratio,

current debt ratio and non-current debt ratio.

40. Commitments
Operating leases

At January 31, 2012 and January 31, 2011, operating lease commitments, by maturity
date, were as follows:

L % - L - : - Janpary 31 January 31
{amounts in thousends of Euwrol - : 2012 2011
Within a year 245,310 198,481
After between one year and five years 745902 BEO, 454
Afver miore than five years 596,745 53T.7T8
Total o | v e 1EERIST 1394714

The foliowing table shows the amounts paid in the financial years 2011 and 2010:

-

s S = = : : Jmnuary 31 - January 31
lampati  feds A Foen) . ; e S om0 am
Fixed minimum leass payments 178,676 154,582
Varishie lease payments 187,866 140,472
ol o : s 36154 295,054

Some Group companies are required to pay lease charges based on a fixed percentage
of net sales.



4. ROE (5 points — 30 minutes)

a. Compute, for the most recent year, the several components of Total ROE. Use the

- following formula:

.\« Liabilitis |
B === |(1-
RO [ROA+(ROA 1) Bem J(l t)
Consider the information on note 36 which allow you to identify Interest expenses:

36. Interest and other financial income ! {expenses), nat

Interest and other financial income (expenses), net may be analyzed as follows:

{amounts in thousands of Euvrol ' T e

s o g
Interests expenses an borrewings {16,843} (180021
[erterest income 2,689 13086
Exchange gains / lossest - realized 01,1581 G318
Exchange gains/ I i~ unrealized B.118) &57
Cither financial income 7 {expenses) (4,589} (4,50}
Revalustions twritedown! of investmants - (4,221F
Total - ’ ‘ 260ET . (30,158}

b. Explain the meaning of the several components values on the final ROE figures.

¢. How could the answer to question 3 change your ROE component analysis? Suggestion:
Identify which values in the ROE Jormula would change and its consequent impact.
(10 lines)

GROUP 111

(3 points — 20 minutes)

The case “Identifying and Coping with Balance Sheet Differences: A Comparative Analysis of U.S.,
Chinese and French Oil and Gas Firms Using the Statement of Financial Structure” identifies 6 different

types of financial structures of WC/ WCN/ NC.
1. Describe the typical financial structure of a manufacturing firm (10 lines).
2. Describe the typical financial structure of a retail or distribution firm (10 lines).

3. A rather dangerous structure (10 lines).



Consoclidated statement of financial position

@ s in th de of Eurol Note il ansery 31
Assets
Current asssts o
Cash and cash equivalents =] Ic22EL S8 5T
Trade receivables. net 10 206,404 o
inventories 11 IT4 T2 FRO,£05
Derivative financial instruments - current i 2 B34 ?’,:;'ég
Beceivablies and prepay from parent company - related parties t3 12,864 I&INT
Onher current assets t4 T 2TE T225
Assets held For sale 5 - 4,548
Total current sssets ES R o TR 02E
Mon-current sssets
Property, plant and equipment is T12 870 536,717
Intangible assets 17 63 8508 868, 11‘2.‘-
& i d o Bk 18 18531 1753
Deferred tax assets 37 175,736 141,378
Gither non-eurrent sssets 19 5F 302 44,983
Dlerivative fi ial instr - TR CUTTEME > - 2540
Total non-current assets 18260685 1,585,290
Totsl Assets 2843568 2386015
Lisbilities and Shareholders’ equity o
Current labilities
Bank overdrafts and short-term: loans 0 165, 485 194,240
Payables to parer pany - related parties 21 4,361 1,548
Cither shareholders” loans 22 - 581
Trade payables 23 283 538 233,825
Current tax lisbilities 24 TI7.FT0 10T 582
Derivative financial instruments - current ) Fd 15,200 5,273
Obligati der fi b - ou 25 1,453 5018
Other current fiakilities 26 128,777 111,482
Total current Babilities 716,584 658,166
MNon-current labilities
Long-term financial payahbles 27 179 442 03,408
Cihligations under fi ¥ MOMN-CUEFaTIT 25 1100 2508
Bost-employment benefits 28 35,898 34,233
Prowvisien for contingencies and Ftrnent; 28 56,921 B2.725
Deferred tax Labilities X7 47,665 B2 FTE
Cther non-current abilities 30 TEE56 50,207
Besivative financial instruments nen-current 12 338 318
Total non-current labilitios ' FIE0TT 495,711
Totaf Lisbilities TIIZE0T 155877
Share capital 255 8582 250,000
her ressrves 1152371 T4R. 543
Translation reserve (17233 la0,0821
Blet profit for the year 437,929 250,819
Total Shareholders” Equity ~ Group 21 1822743 1204, 350
Shareholders’ Equity — N ntralling im 3z L aZIa 5,788
Total Liabilities and Shareholders” Equity 2,943,558 2366,015
Net current assets o 400,919 110,859
Total ets less fiabilities 2226984 1.706.842




Consclidated income statement

: s . January 31 January 31 :
{smounts in thousands af Ewral HNeote 2012 %% 2011 %
fet revenues 33 2,555 606 T08.0% 2045 651 100.8%
Cast of goods sold 34 (727 581} -FE5% {658, 7631 322%
Gross margin - 1. B8NS N.ﬁ‘?‘m 1.3 888 ; &T.8%
Operating sxpenses 35 1,199,000 -85 9% ©62.501) -7 4%
EBIT 628,935 24.6% 48387 204%
Intesest and other finansial income/(expansesl, net a6 (20271 ~1.0% (30,158} -1.5%
Income hefore taxes 602,508 2IE% 98,299 19.06%
Taxation 37 [166.483} -6.5% {134,678 -6.5%
Hst income for the year from eontinuing eparations - 435,405 17.1% 253,551 1A%

Biat ingame for the yesf from discontinued apessaunm ' = - - -
Net income for the year 436,475 CTRI% - PRIEEY 12.4%
Net income from discontinued operations ) )
non-controlling intecests B B

Net income from continuing operations - ; . ,
non-comrolling interests = 4456 i LS Lan
Het income - mmntmlﬁng interests 4496 2% 27332 0.1%
Net income from discontinued operations — Group - - - -
HMet income from continuing opefaucsns - Group 431,929 16.9% 250,819 123%
Net income - Group - 431,979 169% 50,819 12.3%
Basic and diluted ﬁmsngs paar share 0170 o.100

{in Euro per share!




DEBT RATIOS/ LONG TERM SOLVENCY RATIO

Debt ratio™ = Total Liabilities

Total Assets

* or Total-Debt-to-Total-Asstes

Shareholders' ratio = Shareholders' Equity

Total Assets

Solvability ratio = Equity

Total Liabilities

Current debt ratic = Current debt

Total Assets

Non-Current debt ratio = Nen-Current debt

Total Assets

Interest-bearing debt ratio = Interest-bearing liabilities

Total Assets

Non-interest-bearing debt ratio = Non-Interest-bearing liabilities

Total Assets

LIQUIDITY RATIO

Currentratio= Current assets

Current Liabilities

Quick ratio or Acid test ratio = Current assets - Inventories

Current Liabilities

Cash ratio = Cash + Cash equivalents

Current Liabilities

Current debt ratio = Current debt

Total Assets

Average Collection Period (in days) = Average Trade Receivables

Sales/365

Accounts Receivable Turnover = Sales/36S

Average Trade Receivables

Average Inventory Period (in days) = Average Inventory

Cost of Goods Sold/365

‘Inventory Turmover = Cost of Goods Sold/365

Average Inventory

Average Payment Period (in days) = Average Trade Payable

Acquisitions/365

Accounts Receivable Turnover = Acquisitions/365

Average Trade Receivables

ROE =

PROFITABITITY RATIOS

EBIT margin = EBIT

Operating Revenues

EBITDA margin= EBITDA

Operating Revenues

Margin before int. exp. andinc. taxes = Income before int. exp. and inc. taxes

Operating Revenues

Margin before income tax = Income before income tax

Operating Revenues

Net profit margin® = Net income

Operating Revenues

* or Return on sales

MARKET PRICE AND DIVIDEND RATIOS

EPS = Net income

Average number of shares outstanding

P-ERatio= Market price per share of commeon stock

Earnings per share of common stock

Dividend-Yield Ratio = Common dividends per share

Current market price of stock

Dividend-Payout Ratio = Common dividends per share

Eamings per share

ACTIVITY RATIO

Sales to Working Capital ratio= Sales

Average Working Capital Need

Sales-per-employee ratio = Sales

Average Number of Employees

Net income-per-employee ratio= Net income

Average Number of Employees

RETURN ON ASSETS (ROA)

-

Return on assets = Operating income + Financial revenue

Total Assets

RETURN ON EQUITY (ROE)

Return on equity = Netincome

Shareholders’ Equity

.y Liabilities |
ROE = | ROA +(ROA —i)*22HUS 4
[onvcmon-n-Lgiee Ja-o

Netl. EBIT+FR _ Sales . IBT « Assets . Netl.

Equity  Sales Assets EBIT+FR  Equity IBT



